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( PART-A : Objective )

Time : 20 min. Marks: 20

Choose the correct answer from the following: 1x15=15

1. Relation between Excutive and Legislature is called
a. Presidential system of government b. Parliamentary system of Government
¢. Unitary form of Government d. Federal form of Government

2. The Ministry headed by the Prime Minister of U.K is Collectively responsible to-
a. British Parliament b. King or Queen
¢. House of Lords d. House of Commons

3. Which of the following sits as a court of impeachment to impeach the President of USA?

a. The House of Representatives b. Both Houses of US Congress
¢. The Senate d. The Judiciary
4. The Federal Council of Switerland is elected by
a. Federal Assembly b. National Council
¢. Council of States d. Swiss Cantons

5. The State Council of People’s Republic of China is appointed by
a. National People’s Congress
b. Standing Committee of NPC
¢. Communist Party of China
d. Premier is appointed by NPC and rest appointed by NPC upon recommendation of
Premier
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R Colonies of USA formed confederation and later federations.

9. The Working organ of National People’s CONGIess is .......ccceesrrussunieiussrisssrinnsennncennns
10. The Upper House of Swiss Federal Assembly is called..............cccccouiiiiiiiiniiiniiinnnn

11. The Prime Minister of UK must be the member of either House of British Parliament.
a. True b. False

12. There is a separation of powers in British Constitutional System
a. True b. False
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13. The President of USA has no Veto Power to reject a bill passed by U.S.Congress.
a. True b. False

14. The real centre of power in China is not the National People’s Congress but the
Communist party of China
a. True b. False

15. The Swiss Constitution is not a federal Constitution but a unitary one.

a. True b. False
16. Match the Followings:- 5
1. The House of Lords of UK a. Any political treaty or alliance with
foreign countries
2. The Supreme Court of USA b. Neither presential nor parliamentary
3. The Cantons cannot individually or c. Sits as highest court of Appeal
collectively make
4. The Swiss Federal Council is d. Swiss direct democracy
5. Landsgemeinde is the instrument of e. The interpreter of the Constitutions
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Time : 2 hrs. 40 min.

( PART-B : Descriptive )

[Answer question no.1 & any four (4) from the rest |

Explain:
a. The King reigns but does not rule.
b. The king can do no wrong.

“The House of Commons is the Classic example of Legislature
with unlimited authority”

The Senate of USA is the Strongest Second Chamber in the world.
Explain.

“The President of USA is both more or less than the King and
more or less than the Prime Minister of Great Britain”. Comment.

The Federal Council of Switzerland is the most unique executive
in the world. Discuss.

Examine the Federal Cantonal relations in Switzerland. How far
are the Swiss cantons autonomous?

Describe the Composition, powers and position of the standing
Committee of the National People’s Congress of China

Discuss the role of Communist party in the People’s Republic of
China.
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